pLx
' \Vr*r/l*/f.’u{ OVt (V‘l-\’ m“ft b )49 /aé/

12,120 Shyw W} =Dn -2 1

@t Comprte (149)(148482) and 155 i)
1+6+6>

(PYDY)Q Dx) i5 ,m(\uc,\'\o\e'; Q Pﬁ‘\?é\"f% E \‘Semj-i’amli Oﬁ"“iﬁn'b‘ﬁw

P2, 241, 2172, uk2
=S PUx) s \\rru\uuul Qvtr e v

Nole | §3-26-2=0 = §*=26+2

= (H(})(H”G*GZ) = [+0+67—+9+91{_e%: )
= !+2&+292+29+Zr%+qe+29 ~

| (+6)(14+8+8) = 54+ 26" |

v
+o
Now Wt CJM(PU\”‘& ‘19492_
e
|+ LLhe BT = 40 = (a+lc(9+09 )0+ )
Q c V- 2

—_— = N v af

Vg - jﬁ, LTy

e 60 0onmB 200 T o

@)

craBra bl sl Lpa Lo L(20 1)
b+ = 2L+ 3b6 + L6
et bt s g ((2092)+ (2874 20)
- bt Ucb t2e

—



O + 0%4082 ‘
3 7L+ 30 b = 0

Lt
SO P \Fal 3¢

[

— (\j
= 04,7542(/_\“0

(a +1b +uc 1) =0
5t(a+b+%a>:o (e)

(2)

(V)
o P30 & oL 32l T
N—)
b-c-ts
b= c+|
(?) G*%L*“L—\: -L—3L+3[7+([C_(:()
= ?g+c-f=2QﬁU+c-ﬂ





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

